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Date Interpretation Set Theory Questions Quiz for Bank PO Pre
and Clerk Mains Exams

Set theory Quiz 3

Directions: Study the given information carefully to answer the questions.

In a recently held survey there were 9700 persons in a local area. Out of these 3000 use only
Nokia phones, 2400 use only Apple phones and 1450 use only Samsung phones. The number
of persons who are using the phones of all the companies is 1500. The number of persons who
use Nokia phones and Samsung phones, but not Apple phones is 450. The number of people
who use Apple and Samsung phones, but not Nokia phones is 550 and the number of those
who use Nokia and Apple phones, but not Samsung phones is 350.

1. How many persons use phones of at least two companies?

A. 2800 B. 2850 C. 2700 D. 2900 E. None of these

2. Find the number of persons who use Nokia phones.

A. 4900 B. 4500 C. 5300 D. 5700 E. None of these

3. How many persons use the phones of Nokia or Apple but not those of Samsung?

A. 5750 B. 6850 C. 6600 D. 6870 E. None of these

Correct Answers:




Explanations:

1. Based on the information given, we can draw the following Venn-diagram
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Clearly, the number of persons who use phones of at least two companies = 1500 + 550 + 450 + 350 = 2850
Hence, option B is correct.

2. Based on the information given, we can draw the following Venn-diagram
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The number of persons who use Nokia phones = 3006 :350 + 450 + 1500 = 5300
Hence, option C is correct.

3. Based on the information given, we can draw the following Venn-diagram
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The number of persons who use phones of either Nokia or Apple but not those of Samsung = 3000 + 2400 +

350=5750
Hence, option A is correct.
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